‘5“‘.‘."‘6’&")

46- It is well known that energy can be ........ from one system to another.

1) reaction 2)transformed 3) measured 4)capacity
47- The magnetic ....... increases with an increase in the current.

1) properties 2)field 3) potential 4)motion

48- The Henry is a unit for ...............

1) induce 2) inductance 3) magnet 4) magnetic

49- Experiments have been carried out to ............... practical means for generating power
from sunlight.

1) discuss 2) deliver 3) develop 4) transfer

50- Over the next five years, the ministry plans ............... all the provinces to the national
power network.

1) to feed 2) to carry 3) to isolate 4) to link

51- For long-distance transmission of electricity , ............... is needed to move the
current with minimum loss.

1) transformer 2) ACSR conductor

3) generator 4) parallel reactor

52- The power field ............... with the generation of large amount of energy for cities
and industries.

1) deals 2) operates 3) experiments 4) delivers

53- An antenna is a device that .............. electromagnetic energy into space

1) converts 2) generates 3) receives 4) radiates

54- In solving a circuit problem the directions of the currents are chosen ......

1) concurrently 2) specifically 3) arbitrarily 4) improperly
55- Fuse Cut outs maybe ....... So asto ........ the section of the circuit which is .........
1) cut out , endangered , placed 2) placed , cut out , endangered
3) endangered , placed, cutout 4) placed , endangered , cutout
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